
Savoir Fd. 4 Corrections 
 
 
 
 
 
 
 
 

Corrigé  Exercice 12   
 

𝑓1(𝑥) = 2𝑥 − 5 𝑔1(𝑥) = 1 − 4𝑥 ℎ1(𝑥) = 0,7𝑥 + 3 

Dérivée 𝑓1
′(𝑥) = 2 Dérivée 𝑔′1(𝑥) = −4 Dérivée  ℎ′1(𝑥) = 0,7 

 

𝑥 −∞  +∞ 

𝑓1
′(𝑥)  +  

𝑓1(𝑥)  ↗  
 
 

𝑥 −∞  +∞ 

𝑔′1(𝑥)  −  

𝑔1(𝑥)  ↘  
 

𝑥 −∞  +∞ 

ℎ′1(𝑥)  +  

ℎ1(𝑥)  ↗  
 

 

 

𝑖1(𝑥) = −3𝑥 + 12 𝑗1(𝑥) = 120𝑥 − 520 𝑘1(𝑡) = 1,25𝑡 − 8 

Dérivée  𝑖′1(𝑥) = −3 Dérivée  𝑗′1(𝑥) = 120 Dérivée  𝑘′1(𝑡) = 1,25 
 

𝑥 −∞  +∞ 

𝑖′1(𝑥)  −  

𝑖1(𝑥)  ↘  
 
 

𝑥 −∞  +∞ 

𝑗′1(𝑥)  +  

𝑗1(𝑥)  ↗  
 

𝑥 −∞  +∞ 

𝑘′1(𝑥)  +  

𝑘1(𝑥)  ↗  
 

 
 
 
 

Corrigé  Exercice 13   
 
 

𝑓2(𝑥) = −𝑥2 + 2𝑥 + 8 𝑔2(𝑥) = 𝑥2 − 6𝑥 + 5 ℎ2(𝑡) = 2𝑡2 + 7𝑡 − 4 

Dérivée  𝑓′2(𝑥) = −2𝑥 + 2 

𝑥0 =
−2

−2
= 1  

Dérivée  𝑔′2(𝑥) = 2𝑥 − 6  

 𝑥0 =
−(−6)

2
= 3 

Dérivée  ℎ′2(𝑡) = 4𝑡 + 7 

 𝑡0 =
−7

4
= −1,75 

 

𝑥 −∞  1  +∞ 

𝑓′2(𝑥)  + 0 −  

𝑓2(𝑥) 
 
 

↗ 
9 
 

↘  
 

 

𝑥 −∞  3  +∞ 

𝑔′2(𝑥)  − 0 +  

𝑔2(𝑥) 
 
 

↘ 
 

−4 
↗  

 

 

𝑡 −∞  −1,75  +∞ 

ℎ′2(𝑡)  − 0 +  

ℎ2(𝑡) 
 
 

↘ 
 

−10,125 
↗  

 

 

 

𝑗2(𝑥) = 0,5𝑥2 − 4𝑥 + 1 𝑘2(𝑥) = −20𝑥2 + 40𝑥 𝑙2(𝑥) = −1,25𝑥2 − 5𝑥 + 2 

Dérivée  𝑗′2(𝑥) = 𝑥 − 4 

𝑥0 =
−(−4)

1
= 4  

Dérivée  𝑘′2(𝑥) = −40𝑥 + 40 

𝑥0 =
−40

−40
= 1  

Dérivée  𝑙′2(𝑥) = −2,5𝑥 − 5 

  𝑥0 =
−(−5)

−2,5
= −2 

 

𝑥 −∞  4  +∞ 

𝑗′2(𝑥)  − 0 +  

𝑗2(𝑥) 
 
 

↘ 
 

−7 
↗  

 

 

𝑥 −∞  1  +∞ 

𝑘′2(𝑥)  + 0 −  

𝑘2(𝑥) 
 
 

↗ 
20 

 
↘  

 

 

𝑥 −∞  −2  +∞ 

𝑙′2(𝑥)  + 0 −  

𝑙2(𝑥) 
 
 

↗ 
7 
 

↘  
 

 
  



Corrigé  Exercice 14   
 

𝑓1(𝑥) = 𝑥3 − 3𝑥2 − 9𝑥 + 5 ℎ1(𝑥) = −𝑥3 + 12𝑥 + 7 𝑗1(𝑥) = 0,5𝑥3 − 1,5𝑥2 + 1,5𝑥 
Dérivée  

𝑓′1(𝑥) = 3𝑥2 − 6𝑥 − 9 
Dérivée  

ℎ′1(𝑥) = −3𝑥2 + 12 
Dérivée  

𝑗′1(𝑥) = 1,5𝑥2 − 3𝑥 + 1,5 

 

𝑥 −∞ −1  3 +∞ 

3𝑥 + 3 − 0 + | + 

𝑥 − 3 − | − 0 + 

𝑓′1(𝑥) + 0 − 0 + 

𝑓1(𝑥) 
 
 

↗ 
10 

 
↘ 

 
−22 

↗ 
 
 

 

 

 

𝑥 −∞ −2  2 +∞ 

6 − 3𝑥 + | + 0 − 

𝑥 + 2 − 0 + | + 

ℎ′1(𝑥) − 0 + 0 − 

ℎ1(𝑥) 
 
 
↘ 

 
−9 

↗ 
23 

 
↘ 

 
 

 
 

 

𝑥 −∞ 1 +∞ 
1,5 + | + 

𝑥 − 1 − 0 + 

𝑥 − 1 − 0 + 

𝑗′1(𝑥) + 0 + 

𝑗1(𝑥)  
 
↗ 

0,5 
↗ 
 

 
 

 

 
 

 
 
 
 
 


